7. ‘Explain D:.wmm:m.m.\/_moq:::f with mcmﬁmu*m 00v<m_mr_,._., mmmmx<m_u . WOZEI:..G
examples. i _, | .
o o | _ . ¢ 2015
8. Whatis AVL tree ? Compare its with Binary tree. o ; !
. Time : w hours

9. qumﬁmmcw:m search tree when-the elements ,
Gl j Full Marks : 80
arrive in the following in order : f ;

, 99, Am 05, 20, 07, 23244092 : : = ,,,Om:&amwmm are required ﬂo@?m N:m@,m:w_\_\mww in

o

their own words as far as practicable.
e 2 . . L .

.ﬂ.mm figures in the ,im@.: indicate w:\\ marks.
Answer from m.on,:, the Owoso__m as directed.
. | - Group-A
(Objective Type Questions)
- Answerall n»:mmwwo:w. b

1. Choose the correct answer of the following :

. Nxéouwo_
(a) Amayie: = L R
(i) Linear data m:cof_wm.
ec Non-linear data structure
(ili) Complex data structure
(iv) None of these
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(b) Which of the following operations can not be

performed on link-list ?
() Modify
(i) Replace
(iii) To determine if list is empty
(iv) None of the above .
(c) Which one of the following Sl case of
Zc__..vom__‘;m“,w
(i) Marks the end of the node :
(i) Isequalto\o'inC.
(iii) Isthe address of some node
e<_v Is m_m_o om__m,a a <o.,a_uo_%m:: C
(d) Queues canbe usedfor: -
(i) The line printer
(ii) .>o_ommm to disk maqmum
E.c. Function call | ,
(V) None of the above
(e) Recursian always requires :

(i) Termination of the algorithrn

MELGB . sy Contd.
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(h)

(ii) Key variable

(iii) Base value

(iv) All ofthe above

How many cycles should be contained intree ?

Qi 0

(i) At _mm.mﬁ one

- (iii) Anynumbered

(iv) None of these
The search keys must be ordered in :

() Binary search

(i) Sequential search

(ili) Hashing
(iv) None of the above
>_<m+mnm case time-complexity of the quick

sort algorithm is more than :

(i) O(nlog,n)

(i) o(n/n(n))

(iii) 0(logN)

cs z,.o:m of the above
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(i) Name the moa:@ m_oo_,:_:a for which time is
: n_,onoao:m_ to :N
(i) mm_mo:o:-w,on
(i) Bubblesort
(iif) Quick -sort
A_<v None of these
9 Worst case mm_o_msg of this mmmqo: isn:
(i) mmncm:ﬁ_m_ mmmqos
(ii). Binary search
(i) Indexed search
(iv) None of these
Group—-B ‘
(Long-answer Type Questions)
Answer any four nc‘mm:o:m,oﬁ the following :
A 15%4 = 60
@ <<:8 an array of size 20 and show how a
string “l IOVE MY COU NTRY”is stored.
(b) Whatare the advantages of linked-list over
Arrays ?

(4) S _ Contd.

3. What are the various onm_wmzosm possible on a
circular linked-list ? Explain all of them <<_§
algorithm.

4. Translate, by inspection and hand each 3?
expression into mnczm_ma pre-fix and post-fix
. expression :

(8) (A-B)/((D+E)+F)
(b) (A+B)/D)*((E~F)*G)
(©) ((A=C)+BIDAE)+F)
(d) A+(B+C+(D+E)+FIG
(€) A+B—(C+D)*(E~F)/G/HAI
5. (a) Explain m_B__m::mm and a.wm_B__m::mm
_between mﬂmox and Queues.

(b) Whatis Bocamos ? Explain its characteristic
and uses ?

6. (@) Construct the expression :mm of the given

mncm:os
3 (A+B)~C/D
(i) A—-C+D

(b) What is Hashing ? Mention its uses.
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